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E(E|C|E|C|VP VP| VP
5144|557 10| 20
1| 3427 | 8] 9|10| 8] 7| 10| 10|admis | 9,025| 60| - 9,32 10]iunie 0
2| 3428 | 8 9] O 6/ 0]10] O 0 21| - 0 0 0 0
3[ 3429 | 9| 9]10| 9[10] 10| 10|admis 9,65| 60| - 9,57 10]iunie 0
4| 3445 | 8]|10|10| 9| 7| 10| 10|admis 9,25| 60| - 9,58 10]iunie 0
5/ 3430 | Ol O] O] O] Of10] O 7]|- 0 0 0 0
6| 3432 | 7| 8|10 Of Of O] O 13|MTAAPA, MP, AREIM, AN, EI, Practica2 0 0 0 0
7| 3433 | 7| 7|[10] 6] 0[10] O 25|MP-8, AREIM 0 0 0 0
8| 3434 [10| 9]|10| 8| 8] 10| 10|admis 9,4] 60| - 9,22 0 0 0
of 3435 | 6| 7| 9] O 0] 10| 8|admis 50|AREIM 0 0 0 0
10| 3436 0] O] Of O] O] O 0 0[MTAAPA, MDS, MP, AREIM, AN, EI 0 0 0 0
11| 3437 [10] 9|10| 8| 7] 10| 10|admis | 9,275| 60] - 9,52 0 0 0
12| 3438 | 8| 9|10 7| 7] 10| 10|admis 8,9| 60|Practica2 0 0 0 0
13| 3439 | 0] O Of O] 0|10 O 0 7|AREIM, MSSM 0 0 0 0
14| 3446 | 8]|10|10| 8| 9] 10| 10|admis | 9,375| 60] - 9,5 10]iunie 0
15| 3447 | 8] 9|10 9| 9] 10| 10|admis 94| 60| - 9,45 10]iunie 0
16 3441 | 8[10|10| 8] 6]10| O 0 30|Practica2 0 0 0 0
17| 3444 | 7| 8|10 6] 5|10 O 0 30|Practica2 0 0 0 0




